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Section - A (Marks : 2 each)
(3.1 ) Comvert the fellonwing logic finchion imte minterm
ABUDE - AB'C'DE' + ABCDE' + ABCDE
(b1 Dcline the terins real ime computer and process control computer
(Cy  Give the Tavered vicw of a compuler sysiem
(< What s the role of Shuft Reersters in digital computers
() Perform the subtracuon with the following unsiened binars
number by taking thic 2 s comphiment of e cubirabiend
AORRER RIS AN EAR ARINY
ch Psplninthe meanmng of the memony - reference istruction STA
fe AV hat s the difference between ancroprog2caan and mi<ro code ?
chy Wolatdo son mican by software interropt 2
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Section - B (Marks : 5 each)
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FExploin an brict 2bout ANAND machines
Cive an overview ol CISC Archiiteciure,

A Computer cimplovs RANT chips of 236 x 8 and ROM chips of
1024 x 8 The computer system needs 2k byies of RANM, 4K bytes
of ROM. and four interface nnils. 2ach with four registers. A
menmoryv-mapped O configuration s used The two lughest ordar
bits of the address bus arg assigned 00 for RAN 01 for RONL and
10 for interface registers Give the address range un hexadectogi
[or RAM. ROM. and mnteriace

A DALA controller transiers 1o-bit words 1o memory using cidle
stealing. The words are assembled from a device that transnuls
characlers ai o rate oi 2400 characters per second. The CPL s
fetching aud exccuting instructions at an averngs rate of | nullion
mstructions pet second By how much will the CPU be slowed
dowi beeause of the DMA transfer 7

Discuss the hardware implementation of division for signcid-

magmingde data
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Section - C {Marks : 10 each)
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(D)

Fxplann o dewn] the mma lentures of at east two perlormance
evathiauon benchmarks

pPooT icads 1o less-than-linear

Lxplatin win ioad  balancing
spcedup

A given processor has 32 registers, uses 16-bit inmmediate. and has
142 nstractions in 1ts ISA. in a given prograni 20", of {he
Instructons ke one input register and hanve one output register,
30%G have two mput registers and one ontput register. 25% have
one oulpnt and onc input register and take an immediate mput as
well, and thz remaimng 230 hane one immediae input regisier
and one output register. For cach of the four types of instruction.
how miany bits are required ? Assume that the ISA requires that all
instructions be a multiple of 8 bits in length.

Iow dous pipelimng immprove performance

Wit 1s the result of the foliowine eperations when CACCuUled on i
§-bit processer that uses a 2°s complement representaiion for
NeLAlNS INeeSrs
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